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Question 1.Select the related word/letters/numbers from the given alternatives:
&3 Iy faenenl & @ Fafetre Qree)/ 31&RI/EEaT T giav|
Air:Bird::Water: ?

arg : ael gl ?
Options:

1) Fish

HASOT

2) Swim

GEC

3) Wash

By

4) Drink

LG

Correct Answer: Fish

SN

Candidate Answer: Fish

AT

Question 2.Select the related word/letters/numbers from the given alternatives:
&3 Iy faeneal & @ Farfewre Qrec) 31&RI/EEaT T giav|

ACEG:BDFH::IKMO: ?

Options:
1) DKL

2) JLNP
3) KLMN

4) HIK
Correct Answer: JLNP
Candidate Answer: JLNP

Question 3.Select the related word/letters/numbers from the given alternatives:
&3 I fashenl 7 @ Aafetd Qse) IaR/TET 1 gfAT|

12:20::30: ?

Options:

1)15

2)35

3)42

4) 48
Correct Answer: 42
Candidate Answer: 42
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Question 4.

For the following questions

Find the odd word/letters/number pair from the given alternatives.
(A) Neurologist (B) Dentist (C) Architect (D) Paediatrician

TrATaTe wea # QU a1v faeshedt 7 & fawer efee)/ 316/ 6EAT 9 I YT ?
(A) a3 FareetY (B) a7 Raifheqe ( C) angshi (D) arer Rifsscer

Options:
1A

2)B
3)C

4)D
Correct Answer: C
Candidate Answer: C

Question 5.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

TFATET wea 3 feu 10 faehedl & & fawe Wee/3HeR/HEd ZI& H giav ?
(A) KP (B) MN (C) HR (D) GT

Options:

1)A

2)B

3)C

4)D
Correct Answer: C
Candidate Answer: C

Question 6.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

PrAfafed e & U a1v faesredl 7 & fawer eree)/316R/6EA1 Z7A 1 AT ?
(A) 16-28 (B) 20-30 (C) 30-40 (D) 40-50

Options:

1)A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: A

Question 7.Arrange the following words as per order in the dictionary.

fRrAfaf@d erdl 1 ereewhier F foT a1v e & 3rTar fAf@w ?

1. Syringe 2. Syphilis 3. Syncretism 4. Synarchy 5. Submerge
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Options:
1)4,5,2,3,1

2) 5,4,3,2,1
3)5,3,4,1,2

4)4,1,2,3,5
Correct Answer: 54,3,2,1
Candidate Answer: 54,3,2,1

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
TFAToTEe Tea 3 Toh 37eTshed T ara &, Foree Ueh v ofed &1 fw 910 fashed & & a8 WEY faehod iaw it 31egshal o1 o ?

WYV, ?, IKH, BDA
Options:

1) OPR

2) ROP

3) PRO

4) OQH
Correct Answer: PRO
Candidate Answer: PRO

Question 9.Which number will complete the series?
TFATErT 9eaT & Ueh 31eTehe 1T 1T &, ToIea b U oot &1 few a1v fashedt # & 9 GeY faehed YiAT it 3fafsha ol U ?

6,8,17,19,28,30,7

Options:
1) 32

2)37
3) 38

4) 39
Correct Answer: 39
Candidate Answer: 39

Question 10.A is B's brother, C is A's mother, D is C's father, F is A's son. How is A related to F's child?

ABHHESE, C, AR HCTE, D, CH TR, 3F, AR GTEI A, F & T & vy TehR Toaifeled & 2
Options:

1) Aunt

T

2) Cousin

EEREIS

3) Nephew

T

4) Grandfather

arer

Correct Answer: Grandfather
arer

Candidate Answer: Grandfather
arer
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Question 11.Seven boys A,B,C,D,E,F and G are standing in a line.
(i) G is between A and E

(ii) F and A have one boy between them

(iii) E and C have two boys between them

(iv) D is immediate right of F

(v) C and B have three boys between them

Who is second from left?

ard @5 A,B,C,DEF3IRGUuad oA T @S 1 (i) G, ASNREF T F§|
(ii) F 31 A & ot & ueh o= B

(i) E3R CHF T dA s &1

(iv) D, F & 81 grft 3R &

(v) C 3R B & o 3 it o5 §1 915 A qEUT A AT § ?

Options:
1)C

2)G
3)E

4)A
Correct Answer: E
Candidate Answer: E

Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word:

rfaRd faeheal & & g eee YiAT St G 1T 2fee & TR T TLWT Fleh 6T Sel1dT SIT Hehell ?
MEASUREMENT

Options:

1) TEAMS

2) MASTER

3) SUMMIT

4) SUMMER
Correct Answer: SUMMIT
Candidate Answer: SUMMIT

Question 13.In a certain code language the word EXAMPLES is written as EMAXSEPL. How will the word BUOYANCY be written in that language?

ToRET 15 AT 7 EXAMPLE 21s¢; 3 EMAXSEPL for@r ST &1 39 19T 7 BUOYANCY 21sg & &hat forgr simaeT ?

Options:
1) YBANCYOU

2) CUOYYBAN
3) CUYOYBAN

4) CYOUYBAN
Correct Answer: CYOUYBAN
Candidate Answer: CYOUYBAN

Question 14.If P denotes multiply, T denotes subtraction, M denotes addition, B denotes division then 28B7P8T6M4 = ?

IfE P T 31 AT §, T 1 31 wer §, M ar 31 At §, 31X B 7 31 o197 1 Y 28B7P8TEM4 = ?

Options:
1) 28

2)30
3) 32

4) 34
Correct Answer: 30
Candidate Answer: 30

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDg=&appid=1a4fff78943b24af40c79deccf09bb87 4/28
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Question 15.In this question, some equations are solved on the basis of a certain system. On the same basis find out the correct answer from amongst the four
alternatives for the unsolved equation.

FO THIROT Tk fARET Yool & gef foht a7 §| 3¢ 3R 0¥ fow 1w faehodt # & T 3ok gofe foif@e ?
7x5Xx6 =576,

4x2x5=245,
8x2x5="7?

Options:
1) 258
2) 285
3) 582

4) 852
Correct Answer: 285
Candidate Answer: 285

Question 16.Find the missing term in the following question:-

T 31T fehedt 7 & S TEAT A1 HIST ?

3 - 9
2 5 2
6 7 4

36 140 18

Options:
1H1

2)7
3) 12

4)19
Correct Answer: 1
Candidate Answer: 1

Question 17.Pranav went 10 Km to the North. Then he turned West and covered 10 Km. Then he turned south and covered 5 Km. Finally, he turned to the East and
covered 10 Km. In which direction he is from the starting point?

9ot 10 3.8 e # 9727) TR a8 TiRa#H & 733 9 10 6.8, =relm| R a8 efaior & g3 o 5 AL el 3id F 95 9 # 737 317 10 f.#. Tan| g 30e IR E T
afFaferag?

Options:
1) South

N
| ~
QZ%
o
=
0

3) East

24
1=
3

Correct Answer: North

1

Candidate Answer: North

:
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Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statement: Many books are rocks. All rocks are clips.
Conclusion I: Some books are clips. II: No rock is a book.

FTafAd UesT 7 U a7 & goFdey R 9 ¥, orass 3t & fasend/Aeaand, 1 3R 11 fAemrer 1 €1 3maent R et § foF aardey @cd § a8 98 aead: A1 a2ai &
A=t gl 8T g1 31rae foTT T § o U 31w aordes & & dlaar RfYad 9 & T8 fasey/aAgar e s dear g ?
qEFATE 1. i T e 81 2. Tl T fFerd &

fashy : 1 Fo g fFor &1 11 18 o e Toie =181 81

Options:

1) Only conclusion I follows

Fael sy [ T 8

2) Only conclusion II follows

Faol fasay 11 TEr ¢

3) Both conclusion I and conclusion II follow

sy 1 317 11 gt Tl 81

4) Neither conclusion I nor conclusion II follows

AT aY sy 1 T §, 3R A1 € sy 11 T §1

Correct Answer: Only conclusion I follows

Fae sy I T T

Candidate Answer: Only conclusion I follows

Fad sy I T gl

Question 19.Four different views of a cube/dice are given as viewed from different angles. Find out the number of dots on the face opposite to the face with one dot.

Th ©el / I & TR 37elT-37elT 5% 3TolaT-37e3T vl & @Y 21w | 38 T9g, arel thofth o Y 3 Weleh WX fleg3il AT Hedn A1 hifaiw ?

Options:
1)6

2)5
3)4

4)3
Correct Answer: 6
Candidate Answer: 6

Question 20.Choose from the four diagrams given below, the one that illustrates the relationship among 'Languages’, 'French' and 'German'.

el ar 3m@l # @ 98 3ma gfAw S s, S, 'S & o TEr dae Rl 8

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDg=&appid=1a4fff78943b24af40c79deccf09bb87 6/28
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Options:
1)

©
O

N
~

S
.

w
~

N
~

Correct Answer:

(@)
o))
3
=
[=%
Q
-
0]
>
3
7]
= :
o
=

Question 21.Which answer will complete the pattern in the question figure?

AN Sea el TeaT 3R & Ffared & g el ?
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Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDg=&appid=1a4fff78943b24af40c79deccf09bb87 8/28
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Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded.

&Y 378 Sec¥ Tt 7 & 37 I IFHA 1 AT et et 3mpfar Mg ¢ 2

‘,f’
Options:
1)
N
N
&
~17
2)
<
3)
P
N
— \.a"?
TN
‘d// 1 !
4)
¢
/!
Correct Answer:
X‘
/
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Candidate Answer:
] T

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

T TR TSt B i1 TEWIT 38R HSHh H1eT ST oY Wieled & dle; Jg e 3MTpict shar @S &am 2

______ 11 [ T I O Y )

| I |

____/.——’__‘\;\' T P o o T . T ",'-—q.-: !

# A | | e A |

HEH T Y O N

| -'TC'_'—_ | [ i I'?'I_'q' I

Y | /f i /f [THN < ¥
EEIETE 1 T

Options:

1)

N

w

v v = v T
<HHH S ¢
\V4 O

N

Correct Answer:

O
<SHe
O
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Candidate Answer:

O
SHHHS
&

Question 24.If a mirror is placed on the line MN, then which of the answe+C23r figures is the right image of the given figure?

e gea 3 I veh edor s MN @1 9% T@T ST ot &1 978 Sec¥ 3Micrat 7 W Hlr-3 el TeaT epfel 1 Tl Ficfass g 2

L
Options:
1)

L

2)

L

3)

L

4)

("

Correct Answer:
L

Candidate Answer:

L

Question 25.In the question, a word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives
are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., O can be represented by 02,14, etc., and P can
be represented by 55,67,, etc. You have to identify the set for the word 'NECK'.

AT wea 3 faeredt 7 BT a0 Sear-wegg, 3w & ar aeit garT grfiv arv §, S fo o) fw 97w & ameggt 81 g I & S iR dea frammo w4 & &
T &, 3R INoTE 11 & 5§ 9 dh, 37 TeTgl & T HER Y Tger 3T G 31K ST 3 T TEAT earT &= ST Fohe &1 3707 & AT, O 1 02, 14 3f g@nT g=fam
ST HehelT & AT R T 55, 673711 GaNT GRITT ST FahelT &1 S e & 3T9a! U 2 'NECK' & foIw Hefg 1 Tgametet &

L
Options:
1) 96,32,34,68

2) 77,13,69,75
3) 65,21,58,99

4) 89,44,30,87
Correct Answer: 89,44,30,87
Candidate Answer: 89,44,30,87

Question 26.Which of the following green house gases has the greatest heat-trapping ability?

frfaf@d 7 & fore et gr3a 3 7 Taife FAr-Ae sTFar @i & 2
Options:

1) Chlorofluoro carbon

FARIFART FHlelaT

2) Methane

IERC

3) Carbon dioxide

FIeleT 3-3iTFASS

4) Nitrous oxide

ASLH 3ierarss

Correct Answer: Chlorofluoro carbon

FARNFART el

Candidate Answer: Carbon dioxide

FIeeT S5-3iTrASS

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDg=&appid=1a4fff78943b24af40c79deccf09bb87 11/28
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Question 27.Which State of India is leading in solar energy generation ?

$IR T lT-TT T VR FolT Ieurest 3 3r3rofr § 2
Options:

1) Gujarat

TSI

2) Rajasthan

TR

3) Haryana

g

4) Uttar Pradesh

Scal &R

Correct Answer: Rajasthan
RS e

Candidate Answer: Rajasthan
ST EATT

Question 28.Diamond does not conduct electricity, because

Options:

1) It's structure is very compact

SHH! FAAT g Felol Qe &

2) It is of crystalline nature

Tg e AT ¥

3) There are only carbon atoms present in it

3% 3eeT Fad FeT TA] ASE BT B

4) No free electrons are present in it

SHH IS T Ferrel A6 @i 8

Correct Answer: No free electrons are present in it
SHH IS T FelereleT el eIl 81

Candidate Answer: No free electrons are present in it

SHH IS T Fererelel 761 B &
Question 29.Ganga is a result of confluence of rivers Bhagirathi and Alakananda at which place ?

Fgl I oeiRelY 31T 3Tcheiey sTer & Ao & 9 =Tt § ?
Options:

1) Dev Prayag

& gamT

2) Karan Prayag

HT g7

3) Gangotri

ey

4) Rudra Prayag

Etpi)

Correct Answer: Dev Prayag
&a T

Candidate Answer: Dev Prayag
&g gamT

Question 30.What are Aldehydes ?

UCSEISs FATE ?

Options:

1) Mild oxidising agents
g JHe iR Toic

2) Strong oxidising agents
gaol JTFAPRS Tl

3) Strong reducing agents
Tl SRR Toie

4) Mild reducing agents
g AP T

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDg=&appid=1a4fff78943b24af40c79deccf09bb87 12/28



9/22/2016 Staff Selection Commision

Correct Answer: Strong reducing agents
el TR Toic
Candidate Answer: Strong reducing agents

Question 31.Which circuit is used to store one bit of data ?

e 9T 31eT & e & forw fore aféhe 1 g @1 & ?
Options:

1) Register

e

2) Flip Flop

TP iy

3) Vector

IFX

4) Encoder

TARIE

Correct Answer: Flip Flop
e ity

Candidate Answer: Flip Flop
[ECER ik

Question 32.Why is weightlessness experienced while orbiting the earth in space ships ?

ST 3o RET AT W Y &7 TREFHOT AT ST § o SRET T 7 T el § 2
Options:

1) Inertia

aifadierar

2) Acceleration

caROT

3) Zero gravity

Y AT

4) Orbital motion

Fal arfa

Correct Answer: Zero gravity
P TECATHYOT

Candidate Answer: Zero gravity

T TEcATHIOT

Question 33.Which is the largest gland in human body?

AT R H T g7 AT FiT-Ar §?
Options:

1) Liver

CIGEY

2) Thyroid

SIBNEE

3) Pituitary

e

4) Salivary gland

AR Iy

Correct Answer: Liver

T

Candidate Answer: Liver

IRy

Question 34.Who was the President of Indian National Congress at the time of Indian independence ?

AR TATAT & T ARAT ISET AT o 6T i & ?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDg=&appid=1a4fff78943b24af40c79deccf09bb87 13/28
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Options:
1) Maulana Abdul Kalam Azad
AT 3fegel FellH el
2) J. B. Kriplani
S et
3) Jawahar Lal Nehru
STATEX el A&
4) Rajendra Prasad
Toleg TG
Correct Answer: J. B. Kriplani

S, I
Candidate Answer: [ NOT ANSWERED ]

Question 35.What is the minimum age for membership to Rajya Sabha ?

T T T T Foled & TIT #gAcl e Iy Tttt gietl =g ?
Options:

1) 20 years

209§

2) 25 years

253y

3) 30 years

309y

4) 35 years

359§

Correct Answer: 30 years

30 9§

Candidate Answer: 30 years

30 9§

Question 36.What is an octroi ?

Octroi FT & ?

Options:

1) Tax

s

2) Tax collection centre
S FHolleT reX

3) Tax processing centre
T TR X

4) Tax information centre
CFH STHRATNT TeeX
Correct Answer: Tax

fca:)
Candidate Answer: [ NOT ANSWERED ]

Question 37.Sextant is an instrument used in which of the following ?

FFaeTe 3YHIOT FHI TAT fHTH BT 872

Options:

1) Gynaecology
EART =T

2) Navigation

At gt

3) Birth control

oA feAe=or

4) Medical treatment

Rfercar 3uar

Correct Answer: Navigation
At arerT

Candidate Answer: [ NOT ANSWERED ]

Question 38.Which of the following is not correctly matched?
AATATET # & Foraen Ter A 761 § ?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDg=&appid=1a4fff78943b24af40c79deccf09bb87 14/28
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Options:
1) The Mahakaal temple - Ujjain
HETHIT Hieal - Iootel
2) Sringeri Matha - Chikkmanglur district
3) The Sun Temple - Konark
T AR - FoTH
4) Jain temples - Khajuraho
St AfCER - TRTET
Correct Answer: Jain temples - Khajuraho
ST Afrel - TRTET
Candidate Answer: [ NOT ANSWERED ]

Question 39.What is Gol Gumbadh ?

MerFeIe FT ¢ ?

Options:

1) Mausoleum of Hyder Ali

BT 370N T FhRT

2) Mausoleum of Aurangazeb

3RITSAT T FPRaRT

3) Mausoleum of Chand Bibi

Te; el T FAhaT

4) Mausoleum of Mohammed Adil Shah
HEFHC JTTeeT QTG T Hea T

Correct Answer: Mausoleum of Mohammed Adil Shah
HEFHC, JHTTereT LATE T HehaT

Candidate Answer: [ NOT ANSWERED ]

Question 40.Where is a transistor most likely to be found ?

TR & forae g1t 1 JrftemRIaT: HHaeT gl & ?
Options:

1) Wrist watch

FeAS T TS

2) Fuse

RS

3) Hearing aid

HeT 3IYHIOT

4) Fluorescent lamp
FeRIRE o7 T

Correct Answer: Hearing aid
HeT IYHIOT

Candidate Answer: Hearing aid
Hcg 39T

Question 41.Which organ of human body secretes Insulin?

AT eNR & 3 3797 & o gfoial 1 T gl 82
Options:

1) Pancreas

AR

2) Kidney

e

3) Gall bladder

aTTeT SoE

4) Liver

Yehd

C
Correct Answer: Pancreas
SIARRT
Candidate Answer: Pancreas
HIAR™T
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Question 42.If a healthy freshwater fish is placed in salt water, what will be the expected consequence ?

S I Fr Tk TTET ATl B @R YT 7 IWT ST dF 35 HHITAT TROTH F7 gier ?
Options:

1) The fish becomes dehydrated and dies

FSA FoTelghd glet 7T Sean

2) The fish becomes bloated and dies

HSell Feleh FY ST

3) The fish suffers from fungal or bacterial disease and dies

HGN Shaehrd AT SETV] AT gt § F S

4) There is no observable effect on the fish provided there is sufficient food

e Frg fafdse wena AT iewTs T, Fert Al Fr gt Hiete e
Correct Answer: The fish becomes dehydrated and dies

FE fASTeNghd glet #Y STl

Candidate Answer: The fish becomes dehydrated and dies

FSA FSTelghd glet 7T Sean

Question 43.Which country is known as 'Land of Midnight Sun'?

L AT & G 1 A & AT A ST Sl Tl S Hled-T 82
Options:

1) Sweden

iz

2) Norway

A

3) Germany

AT

4) Finland

reTols

Correct Answer: Norway
A

Candidate Answer: Norway

At
Question 44.Which river basin is shared by more than 10 States of India ?

g A& & AT T 9RT F 3cadl 10 T3 GaNT Fief AT E ?
Options:

1) Indus

g

2) Brahmaputra

SEATA

3) Ganges

e

4) Damodar

grAeT

Correct Answer: Ganges
e

Candidate Answer: [ NOT ANSWERED ]

Question 45.Who among the following was the first grammarian of the Sanskrit language?

rAfafld & & SleT Tepel 79U g fag ar ?
Options:

1) Kalhana

g0l

2) Maitreyi

EED

3) Kalidasa

e

4) Panini

qifolstt

Correct Answer: Panini

qrforedy

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDg=&appid=1a4fff78943b24af40c79deccf09bb87 16/28
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Candidate Answer: Panini

Tiforety

Question 46.What is the total strength of the Rajya Sabha?

mmﬁgmm%a?ﬁ%?

Options:
1) 250

2) 260
3) 270

4) 280
Correct Answer: 250
Candidate Answer: 250

Question 47.Which of the following is done at a Stock Exchange ?

I TEFEIST IX oA & T &Il &2

Options:

1) Commodities are bought and sold at wholesale price
2ok &Y R AV TS 3R S Sl &

2) Commaodities are bought and sold at retail price
e & I IET T 3R S el §

3) Securities are bought and sold
st wdr 3tk = S

4) None of these

EREREIE

Correct Answer: Securities are bought and sold
wfrsferat @ i = S

Candidate Answer: Securities are bought and sold

sfersiferat @hdr i adh e &1

Question 48.Which of the following is India's military offensive against Pakistan in the Kargil war ?

FRIN A T81S H TIfFed & faFg ARAT TAT I 3TehaAh P g w17 T ST ST & ?
Options:

1) Operation Kargil

TR FRFNT

2) Operation LOC

TR T3,

3) Operation Vijay

JTReET s

4) Operation Success

TR JFeE

Correct Answer: Operation Vijay
e e

Candidate Answer: [ NOT ANSWERED ]

Question 49.Who gave the title 'Nightingale of India' to Sarojini Naidu ?

TSN Arg At AR fEaTer 3T sfosar &t fadw e fGar ar?
Options:

1) Jawaharlal Nehru

STAER ol Ag®

2) Rabindranath Tagore

Waeg arr &R

3) Rajendra Prasad

Toleg TG

4) Mahatma Gandhi

HETHT el

Correct Answer: Mahatma Gandhi
HETHT ey

Candidate Answer: Rabindranath Tagore

g A1 SR
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Question 50.The headquarters of RBI is in

HRA.37TS. T HEATrT Fel & ?
Options:

1) Delhi

el

2) Kanpur

N

3) Mumbai

qHS

4) Nasik

aifes

Correct Answer: Mumbai
9
Candidate Answer: Mumbai

7S

Question 51.
Options:
1)6

2)5

3)2v8

4) 36
Correct Answer: 5
Candidate Answer: 5

Question 52.The lengths of diagonals of a rhombus are 24cm and 10cm the perimeter of the rhombus (incm ) is :

TRl T et & femult i earsar 24 Q.30 31X 10 Q.. €1 50 GEaqelst F 9@ (@, ) Far gen ?

Options:
1) 52

2) 56
3) 68

4)72
Correct Answer: 52
Candidate Answer: 52

Question 53.A dishonest shopkeeper professes to sell goods at his cost price but uses a false weight of 950 gms, for each kilogram. His gain percentage is

T SSHNT GHTAGN 3] Hel &1 3 - Hed TR S<IeT T AT T § o] a8 Ueh fohelalme & ST 9Y 950 ITH T Fie SEAAT H § | SHH et Tfcrerd e g ?

Options:
1)

2)
3)

4)
Correct Answer:
Candidate Answer:

Question 54.Ratio of A's age to B's age is 4:3. 'A" will be 26 years old after 6 years. The age of B now is

A T 317G 3R B T 31T 1 37701 4:3 &1 6 T TelcT A 26 TN T g1 ST | B &Y TcIAR Y FAT ?
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Options:
1)

2) 12 years
12 9§
3) 21 years
219§
4) 15 years
15 a§

Correct Answer: 15 years

159§

Candidate Answer: 15 years

15 9§

Question 55.1If the Arithmetic mean of 7, 5, 13, x and 9 is 10, then the value of x is

af& 7,5, 13, x, 2T 9 &7 3R 10 &, AY x T AT FAT g ?

Options:
1) 10

2) 12
3) 14

4) 16
Correct Answer: 16
Candidate Answer: 16

Question 56.A man sells an article at 15% profit. If he had sold it for . 6 more, he would have gained 18%. The man bought the article for

T safad fand aeg T 15% o7 IX 9=l §1 TS 381 38 1 6 e o =7 g1, oY 38 18% T o giaiT| safarey o 95 A fehetel w2 3 QT &Y 2
Options:

1) 100

2) 150

3) 200

4) 250
Correct Answer: 200
Candidate Answer: 200

Question 57.A's salary was decreased by 50% and subsequently increased by 50%. How much percent does he lose?

A T IdsT 50% reT &= ar 3R &1e 7 50% et fer aram| Wﬁmﬁqﬁremﬁmﬁrgé?

Options:
1) 25%
2) 50%
3)

4) No loss
S gt o7dt g

Correct Answer: 25%
Candidate Answer: 25%

Question 58.A car moving in the morning fog passes a man walking at 4km/h. in the same direction. The man can see the car for 3 minutes and visibility is upto a
distance of 130m. The speed of the car is :

T & FIGY A ekl g5 Teh I 34 oM 3 4 FoR.AY. /et iy a1er A Yeiel Tefd §U Th JEH I IR A &1 e 3 FATe Feh HR HY &W Febell § TUT PR & HROT el
130 HreX &1 gl eh ST T Hehell &1 R T el AT & ?
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Options:
1)

2)

3) 7km/h.
7 5.3, /ger
4) skm/h.
5 fo.a./ger

Correct Answer:

Candidate Answer:

Question 59.A money lender lends Rs. 400 for 3 years to a person and lends Rs. 500 for 4 years to the other person at the same rate of simple interest. If altogether
he receives Rs. 160 as interest, what is the rate of interest per annum ?

Teh EHR Th SATF I Rs. 400 3 aY & T T Teh 317 =gl T Rs. 500, 4 T o foIT HILROT STl T Teh & & I 3UR T 1 T el Ao 38 Rs. 160 7 ATt
9Tcd g1, df a1 eh ST &7 &¥ FIT giaft ?

Options:

1) 5%

2) 7%

3) 9%

4) 10%

Correct Answer: 5%
Candidate Answer: 5%

Question 60.If x = 1/(v/2+1) then the value of X2 + 2x - 1 is

i x = 1/(V2+1) &, ar X2 + 2x - 1 [ HleT &7 G197 ?

Options:
1) 2v2

2)4
3)0

4)2
Correct Answer: 0
Candidate Answer: 0

Question 61.If X + 1/x = V13, then 3x/(x?-1) equal to

IR X + 1/x = V13 &, &Y 3x/(x2-1) T AT &7 g1 ?

Options:
1) 3V13

2) V13/3
3)1

4)3
Correct Answer: 1
Candidate Answer: 1

Question 62.0 is an centre of a circle. P is an external point of it at distance of 13cm from O. The radius of the circle is 5cm. Then the length of a tangent to the circle
from P upto the point of contact is

O, U Jec 1 3 ¢ P U aled fieg & 5T O ¥ 13 A gl WX &1 39 go Y Bisar 5 Q.. B| Aeif@n P Reg @ goo 1 € 3@ & e - [Neg de &1 gt fhcrait gl ?

Options:
1) V194cm

2) 10cm
3) 12cm

4) 8cm

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDg=&appid=1a4fff78943b24af40c79deccf09bb87 20/28
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Correct Answer: 12cm
Candidate Answer: 12cm
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Question 63.If O is acute angle and sin(8+18°)= 1/2, then the value of 8 in circular measure is

T B 7437 FT &1 3R sin(6+18°)= 1/2 &, &Y TR AT 7 © T AT Fcter g1aT ?

Options:

1) N/12 radians
n/12 ¥feg=a

2) M/15 radians
n/15 fsa=a

3) 2N/5 radians
2n/5 fsa=a

4) 3M/13 radians
3M/13 ¥f3a=a

Correct Answer: /15 radians
n/15 fsa=a
Candidate Answer: /15 radians

n/15 fea=g

Question 64.18 men or 36 boys working 6 hours a day can plough a field in 24 days. In how many days will 24 men and 24 boys working 9 hours a day plough the

same field ?

18 31T 3720aT 36 IS 6 T TTAfesT Tl aeh Ush W I 24 8T & Sia Tora &1 24 3TeH 9T 24 T8 Aee 9 've UiafesT S ae 38T Td 1 fhas et & S ?

Options:
1)9

2) 10
3)6

4)8
Correct Answer: 8
Candidate Answer: 8

Question 65.If a(x + y) = b(x - y) = 2ab, then the value of 2(x% + y2) is

I a(x +y) = b(x - y) = 2ab &, @ 2(x? + y2) &I AT F47 g1 ?

Options:
1) 2(a2 - b?)

2) 2(a2 + b?)
3) 4(a% - b?)

4) 4(a% + b?)
Correct Answer: 4(a2 + b?)
Candidate Answer: 4(a2 + b2)

Question 66.If x + 1/x = 6, then value of x2 + 1/x? is

IR X + 1/x = 6 &, @l X2 + 1/x% &l AT AT ST ?

Options:
1) 23

2) 16
3) 34

4) 32
Correct Answer: 34
Candidate Answer: 34

Question 67.G is the centroid of the equilateral triangle ABC, if AB = 9cm then AG is equal to

G, U WHWITE 37T ABC T heh ¢| IGiTaN AT AB =9 WA, &, AT AG forieh e g ?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=M D g=&appid=1a4fff78943b24af40c79deccf09bb87
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Options:
1) 3v3cm
3V3 |
2) 3cm
33

3) 3v3/2cm
3V3/2 T
4) 6cm

6 |7

Correct Answer: 3V3cm

3v3 @

Candidate Answer: 3v3cm
3v3 .

Question 68.1In the figure (not drawn to scale) given below, if AD = DC = BC and «BCE = 96°,then DBC is

fw a7 27 # (S A9 & 31TER 71T ) I AD = DC = BC 3R £BCE = 96° &, A 2DBC T Aot T 81T ?

Options:
1) 32°

2) 84°
3) 64°

4) 96°
Correct Answer: 64°
Candidate Answer: 64°

Question 69.If O is positive acute angle and 4sin2@ = 3, then the value of tan 6 - cot 6/2 is

I 0T 77 1T 8T 3R 4sin?6 = 3 &Y, AY tand - cotd/2 FT AT TATST ?

Options:
1)1

2)0
3)V3
4) 1/v3

Correct Answer: 0
Candidate Answer: 0

Question 70.The chord AB of a circle of centre O subtends an angle 8 with the tangent at A to the circle. Then measure of2ABO is

O &g aTel gect T SMaT AB Jodt &1 A IR T 1@ & | 0T BT AR AT §1 dAF LABO &I AT &)1 813 ?

Options:
1)6

2)90°- 8
3)90° + 8

4) 2 (180° - 6)
Correct Answer: 90° -6
Candidate Answer: 90° - 6

Question 71.From a point on a bridge across the river, the angles of depression of the banks on opposite sides of the river are 30° and 45° respectively. If the bridge

is at a height of 2.5m from the banks, then the width of the river is (take V3 = 1.732)

A % gl I el e @ 78 & 3o -TIAe aTe) FheTRT o 7ot det shioT shaer: 30° 3R 45° F1 A o 7Y & Rreaari & 2.5 ey &y Frars uX g, At a3y ¥ =llstg v ?

(g A= g o6 V3= 1.732)
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Options:
1) 5.83m
5.83 #.
2) 6.83m
6.83 7.
3) 5.76m
5.76 #.
4) 6.87m
6.87 #N.

Correct Answer: 6.83m
6.83 7.

Candidate Answer: 6.83m
6.83 #.

Question 72.The pie-chart given below show usage of materials in a construction of a house. Study the chart and answers the questions :

a1$ =1E F R B % AT & e Areelt s aRim A §1 w1 3T e 9eal 3l o] ?

The percentage of steel used in the construction of a house

X & fo¥eHor 7 vy gt o gfderd A R ?

Options:

1) 10%

2) 12%

3) 20%

4) 36%

Correct Answer: 10%
Candidate Answer: 10%

Question 73.The pie-chart given below show usage of materials in a construction of a house. Study the chart and answers the questions :

ar$ =1E F TR B % AT & g Areelt s aRiiam I §| e 3T e 9eEl & 3l o] ?

The ratio of cement and bricks used in the construction is

<M RfSTT o forefior 7 sgeret 1 a1 Wafe 3R Set at o aregaraT & 2

Options:
1)

2)
3)

4)
Correct Answer:
Candidate Answer:

Question 74.The pie-chart given below show usage of materials in a construction of a house. Study the chart and answers the questions :

TS e H TR B & TAHIOT & g eret A T SR IRAT § | IE T IEATA FHleh G2l b Sead AT ?

If the cost of cement is [0 5000/- then the labour cost is

gfe deve $r aerd [ Sooo%a’rsr’ﬁﬁa#wwaa‘rgaﬂ?

Options:
1) 5500

2) 6250
3) 9000

4) 4000
Correct Answer: 6250
Candidate Answer: 6250
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Question 75.The pie-chart given below show usage of materials in a construction of a house. Study the chart and answers the questions :

TS =1E A TR B & T & ggeret AT Y SRiT I § | wIE T IEATA e Gl h Seal AT ?

The average of percentages of steel, cement and miscellaneous items used in the construction is

fAHoT 7 vy seaTd, Wave 3 fafay wel & gl @ s i fifee ?
Options:

1) 10%

2) 25%

3) 20%

4) 35%

Correct Answer: 20%

Candidate Answer: 20%

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

REPROOF

Options:

1) WARNING

2) RIDICULE

3) REBUKE

4) THREAT

Correct Answer: REBUKE

Candidate Answer: REBUKE

Question 77.1In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
toit.

INVALUABLE
Options:

1) PRICELESS

2) RARE

3) INESTIMABLE
4) WORTHLESS

Correct Answer: WORTHLESS
Candidate Answer: RARE

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Stagnetion

2) Stagnasion

3) Stagnation

4) Stegnation

Correct Answer: Stagnation

Candidate Answer: Stagnation

Question 79.1In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

I have come (A)/ as soon as (B)/ the customers leave your shop (C)/ No Error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: A

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

I called (A)/ at his house yesterday (B)/ and have given him money (C)/ No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: C
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Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The reason for (A)/ my absence is (B)/ due to ill health (C)/ No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: [ NOT ANSWERED ]

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

I like in the sun.
Options:

1) laying

2) lay

3) lie

4) lying

Correct Answer: lying
Candidate Answer: lying

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Please do not an offer made by the Chairman.
Options:

1) deny

2) refuse

3) refrain

4) refuge

Correct Answer: refuse

Candidate Answer: refuse

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The clerk asked for my

Options:

1) determination

2) destiny

3) destination

4) designation

Correct Answer: designation
Candidate Answer: designation

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Evening of life

Options:

1) Old age

2) A party

3) Holiday

4) None of these

Correct Answer: Old age

Candidate Answer: [ NOT ANSWERED ]

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Button her lip
Options:

1) Tell us more
2) Stop talking
3) Invite us too
4) Enjoy herself

Correct Answer: Stop talking
Candidate Answer: Stop talking
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Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Invent cock and bull stories

Options:

1) Delightful fables

2) Eco-friendly accounts

3) Absurd and unlikely stories
4) Credible tales

Correct Answer: Absurd and unlikely stories
Candidate Answer: Absurd and unlikely stories

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Act of making things like new again.
Options:

1) Innovate

2) Renovate

3) Motivate

4) Activate

Correct Answer: Renovate
Candidate Answer: Renovate

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

One who knows everything.
Options:

1) Omniscient

2) Conscious

3) Intellectual

4) Learned

Correct Answer: Omniscient
Candidate Answer: Omniscient

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Any morbid dread of water.
Options:

1) Hydrofoil

2) Hydrophobia

3) Hydraulic

4) Hyacinth

Correct Answer: Hydrophobia
Candidate Answer: Hydrophobia

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

You have come here with the intention in insulting me.
Options:

1) for insulting me

2) of insulting me

3) on insulting me

4) No improvement

Correct Answer: of insulting me

Candidate Answer: of insulting me

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

I did not give at the examination as my circumstances are bad.
Options:

1) write

2) sit

3) appear

4) No improvement

Correct Answer: appear

Candidate Answer: appear
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Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Though he worked hard, but he failed.
Options:

1) and

2) yet

3) then

4) No improvement

Correct Answer: yet

Candidate Answer: yet

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

No sooner did the teacher come into the class when we stood up.
Options:

1) since

2) then

3) than

4) No improvement

Correct Answer: than

Candidate Answer: than

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

He was so much a coward to help his friend.
Options:

1) so much cowardly

2) too much of a coward

3) as coward

4) No improvement

Correct Answer: too much of a coward
Candidate Answer: No improvement

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

In the world today we make health an end in itself. We have forgotten that health really means to enable a person to do his work and do it well. A lot of modern
medicine, and this includes many patients as well as many physicians, pay very little attention to health but very much attention to those who imagine they are ill. Our
great concern with health is shown by the medical columns in newspapers, the health articles in popular magazines and the popularity of television programmes and
all those books on medicine. We talk about health all the time. Yet for the most part the only result is more people with imaginary iliness. A healthy man should not be
wasting time talking about health : he should be using health for work.

Modern medicine is primarily concerned with
Options:

1) promotion of good health

2) people suffering from imaginary illness
3) people suffering from real iliness

4) increased efficiency in work

Correct Answer: people suffering from imaginary illness
Candidate Answer: people suffering from imaginary iliness

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

In the world today we make health an end in itself. We have forgotten that health really means to enable a person to do his work and do it well. A lot of modern
medicine, and this includes many patients as well as many physicians, pay very little attention to health but very much attention to those who imagine they are ill. Our
great concern with health is shown by the medical columns in newspapers, the health articles in popular magazines and the popularity of television programmes and
all those books on medicine. We talk about health all the time. Yet for the most part the only result is more people with imaginary iliness. A healthy man should not be
wasting time talking about health : he should be using health for work.

The passage suggests that
Options:

1) health is an end in itself

2) health is a blessing

3) health is only a means to an end
4) we should not talk about health

Correct Answer: health is only a means to an end
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Candidate Answer: we should not talk about health

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

In the world today we make health an end in itself. We have forgotten that health really means to enable a person to do his work and do it well. A lot of modern
medicine, and this includes many patients as well as many physicians, pay very little attention to health but very much attention to those who imagine they are ill. Our
great concern with health is shown by the medical columns in newspapers, the health articles in popular magazines and the popularity of television programmes and
all those books on medicine. We talk about health all the time. Yet for the most part the only result is more people with imaginary iliness. A healthy man should not be
wasting time talking about health : he should be using health for work.

Talking about health all the time makes people
Options:

1) always suffer from imaginary illness

2) sometimes suffer from imaginary illness

3) rarely suffer from imaginary iliness

4) often suffer from imaginary illness

Correct Answer: often suffer from imaginary illness
Candidate Answer: always suffer from imaginary illness

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

In the world today we make health an end in itself. We have forgotten that health really means to enable a person to do his work and do it well. A lot of modern
medicine, and this includes many patients as well as many physicians, pay very little attention to health but very much attention to those who imagine they are ill. Our
great concern with health is shown by the medical columns in newspapers, the health articles in popular magazines and the popularity of television programmes and
all those books on medicine. We talk about health all the time. Yet for the most part the only result is more people with imaginary iliness. A healthy man should not be
wasting time talking about health : he should be using health for work.

The passage tells us

Options:

1) how medicine should be manufactured

2) what a healthy man should or should not do

3) what television programmes should be about

4) how best to imagine illness

Correct Answer: what a healthy man should or should not do
Candidate Answer: what a healthy man should or should not do

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

In the world today we make health an end in itself. We have forgotten that health really means to enable a person to do his work and do it well. A lot of modern
medicine, and this includes many patients as well as many physicians, pay very little attention to health but very much attention to those who imagine they are ill. Our
great concern with health is shown by the medical columns in newspapers, the health articles in popular magazines and the popularity of television programmes and
all those books on medicine. We talk about health all the time. Yet for the most part the only result is more people with imaginary illness. A healthy man should not be
wasting time talking about health : he should be using health for work.

A healthy man should be concerned with
Options:

1) his work which good health makes possible
2) looking after his health

3) his health which makes work possible

4) talking about health

Correct Answer: his work which good health makes possible
Candidate Answer: his work which good health makes possible
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